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print( "—HEHOHKBEBEAALTZEL: ")
Tline = gets.chop x1 = line.to_f
print( "ZEBOHEZAALTESL: ")
Tine = gets.chop

x2 = line.to_f
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x=5 x=0

if x <0 then if x <0 then
print( x ) print( x)

end end
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if x <0 then ||[printx) #iE{TENEDIE? ]
print( x )
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X=-5 X=-5
if x =0 then y =-10
print( x ) ifx <0 andy < 0 then
end print( x )
end
X=-5 x=-5
if not x == 0 then y =10
print( x ) ifx <0 ory < 0then
end print( x )
end
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if HIE then {1 else 2 end
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x=10
if X% 2 ==0then

print( x, "B TI")
else

print( x, "[ZFHTT")
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x=10
if X% 2 !=0then
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print( x, "[X{B%TI")

end
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if x >=y then
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end
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if #EB then 1 else K2 end
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x=10
if x % 2 == 0 then
if x>=10 then
print( x, "IZ{BHTIOLLE")
else
print( x, "(Z{BHTIORE" )
end
else
if x >=10 then
print( x, "IF&FHTIOLL")
else
print( x, "[EFHTIORE" )
end
end
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score = 75
grade
if score >= 70 then
if score >= 80 then "A" else "B" end
else
if score >= 60 then "c" else "D" end
end
print( "Your score #{score} corresponds to
#{grade}¥n" )
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end

score = 75
grade =
if score >= 70 then
if score >= 80 then "A" else "B" end N
else

if score >= 60 then "C" else "D" end\
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print( "Your score #{score}
#{grade}¥n" )
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if Math.exp(0.5) >= 0.3 then
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else
0.5

end

Math.1og(23)
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end

if x >= 10 then
print( x , "I&10LA L")
elsif x >= 5 then
print( x , "SEAE, 10K&" )
else
print( x , "I&X5FKHE" )
end
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if x >= 10 then
print( x , "I¥10LAE")
elsif x >= 5 then

true @ false
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elsif x >= 0 then
print( x , "0 L, 5KE")
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else
print( x , "IFX0FK#E" )
end
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score
grade
if score >= 70 then
if score >= 80 then "A" else "B" end
else
if score >= 60 then "c" else "D" end
end

print( "Your score #{score} corresponds to
#{grade}¥n" )
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grade = "A"

if grade == "A" then
print( "80/ELL" )

end
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elsif x >=zand z >=y then
print(X,">=",Z,">=" ly)

end
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loop
break
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loop{
if 1% 2 == 0then
print( i, "¥n") /
end
break if i == 100
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loop{
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loop{
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}
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ThE if BITFELS
Toop{ Toop{ st if st
print( "®olE~ ") print( "PolEF~ " ) | H—ff

if i>=10 then break end breald if i>=10 |
puts( " Yee-ha! " ) puts( " Yee-ha! " )
i =19+l i=d9+1
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loop{
=
break if i > b
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if i==0 then if a > b then
break print( " aldbkVYHKELN")
end end
break if i==0 | |print( " algbkytkEL"")ifa>b |
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if al=b then
a=a*2
b=b+5
end

s

a=a*2;b=b+5ifal=b
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print( "Enter your score: " )
Tine = gets.chomp
break if Tline==""
score = Tine.to_f
grade =
if score >= 70 then

if score >= 80 then "A" else "B" end
else
if score >= 60 then "C" else "D" end
end
print( "Your score #{score} corresponds to #{grade}¥n" )

G:¥Ruby>ruby —Ks samp|e0405. rb
Enter your score: 90
Your score 90.0 corresponds to A

Enter your score: 40
Your score 40.0 corresponds to D
Enter your score:
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loop{ chomp THAXEHEIRENS
line = gets.chomp® 1=, linel<FZEXFAAS

break if line ==""

print( line , "¥n" )\
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1= break ANE{TINEFELT D
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